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#pragma config(Sensor, S1, LC, sensorEV3_Color, modeEV3Color_Color)
%

Color, mode 3Color_Color)

#pragma config(Sensor, S2, CC, sensol

#pragma config(Sensor, S3, RC, sensorEV
#pragma config(Sensor, S4, SONA, sensorEV3_Ultrasonic)

olor, modeEV3Color_Color)

int STD_SPEED =45;
int CORRECTION_SPEED =20;

typedefstruct arr_type {
int min_path[401[2];
int scan_path[32][2];

} Array;

int rb_dir_x =1, rb_dir_y =0, storelnfo =0;

int map_scan_path[32][2] = {

q:%ﬂﬁ'ii%ﬁf‘.ﬁ&f
(41 1040 K41 1042 0,043 1,044 ),045)0.046 ),
(36 L 26 L 16 L{ 06 )
{05 34043403 K02 }301}{00}
(1,0 L{ 20 L{ 30},
(31 3032 033 L34 1035},
{45 44 343 142 141 {40}

I
int golnfoCenter_path[5][2] = {

{40 130 120 L 1,0 1,{ 00 )
5
/int map[5][7];
int map[5][7] = {

int point_combi[24][6] = {
{0,1,2,34,5},
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int waypoints[6](2];
int real_waypoints[4][2];
int move_path[40][2];

int CheckPath(int ax, int ay, int bx, int by);
int CheckLCO);
int CheckCC();
int CheckRC();
int isBack(int rbx, int rby, int plx, int ply):

nt isLeft(int rbx, int rby, int plx, int ply);

int isRight(int rbx, int rby, int plx, int ply);
void turnLeft();

void turnRight();

void turnBack();

void golnfoCenter();

void MovePath(Array way, int move_type);

S/ =start main

task== s========================================================

task main()
{
int i, j, k, rank =100, shortest_idx;

Array way;

7/ level 1
setLEDColor(ledOff);

moveMotorTarget(motorB, 360+1.4, STD_SPEED);
moveMotorTarget(motorC, 360+1.4, STD_SPEED);
waitUntilMotorStop(motorC);
setMotorSpeed(motorB, 0);

setMotorSpeed(motorC, 0);

memset(map, 0, sizeof(map));

for(i =0; i H
for(G =05 j <25 j++) {

way.scan_pathlill[j] = map_scan_pathlil[j];

B £DEg0) FHEY
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MovePath(way, 0);

moveMotorTarget(motorB, 100, STD_SPEED);
moveMotorTarget(motorC, 100, STD_SPEED);
waitUntilMotorStop(motorC);
setMotorSpeed(motorB, 0);

setMotorSpeed(motorC, 0);

setLEDColor(ledRed):
eraseDisplay();
displayBigTextLine(3, "Map scan”);
displayBigTextLine(5, "complete”);

playTone(700, 100);
sleep(3000);

/Y level 2

setLEDColor(IedOff);
moveMotorTarget(motorB, 100, ~STD_SPEED);
moveMotorTarget(motorC, 100, ~STD_SPEED);
waitUntilMotorStop(motorC);
setMotorSpeed(motorB, 0);
setMotorSpeed(motorC, 0);

golnfoCenter();

sleep(250);
setMotorSpeed(motorDB,

setMotorSpeed(motorC, *
sleep(800);
while(!(getUSDistance(SONA) >45&&getUSDistance(SONA) <46)){;}
setMotorSpeed(motorB, 0);

setMotorSpeed(motorC, 0);

sleep(250);

moveMotorTarget(motorB, 13, ~-STD_SPEED);
moveMotorTarget(motorC, 13, STD_SPEED);
waitUntilMotorStop(motorC);
setMotorSpeed(motorB, 0);
setMotorSpeed(motorC, 0);

moveMotorTarget(motorB, 360%2. STD_SPEED);
moveMotorTarget(motorC, 360%2.33, STD_SPEED);

-10 -
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waitUntilMotorStop(motorB);
setMotorSpeed(motorB, 0);
setMotorSpeed(motorC, 0);

storelnfo =getColorName(CC);
sleep(250);

moveMotorTarget(motorB, 360x1.7, ~STD_SPEED);
moveMotor Target(motorC, 360+1.7, ~-STD_SPEED);
waitUntilMotorStop(motorB);
setMotorSpeed(motorB, 0);

setMotorSpeed(motorC, 0);

turnRight();

setMotorSpeed(motorB, 0);

setMotorSpeed(motorC, 0);

J/storelno = 4

// find way points

memset(waypoints, 0, sizeof(waypoints));
waypoints[0][0] =0; waypoints[0][1] =0;

waypoints[5][0] =4; waypoints[5][1] =6;

for(i =0; i
for(G =0; j <7; j++) {
if(mapli](j] == storelnfo) {

waypoints[k][0] = i;

3 i) |

waypoints[kl[1] = j;
k +=1;

/7 find shortest point combination
for(i =0; i <24; i++) {
k=1
for =0; j
int ax = waypoints[point_combilil[j1][1], ay = waypoints[point_combilil[j11[0];
int bx = waypoints[point_combilil[j+1]1[1], by = waypoints[point_combilil[j+11][0];

i+

int px =0, py =0;

if(ax > bx) px =-1; elseif(ax < bx) px =1; else px =0;

if(ay > by) py =-1; elseif(ay < by) py =1; else py =0;

-11 -
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if(CheckPath(ax, ay, bx, by) !=0) k +=abs(ax-bx)+abs(ay-by); /" path 1,23
else { // path 0
if((ax==0llax==6)&&(bx==0/bx==6)) {
if(abs(1-ay)+abs(1-by) <abs(4-ay)+abs(4-by)) k +=abs(1-ay)+abs(1-by)+6;
else k +=abs(4-ay)+abs(4-by)+6;
}
else {
if(abs(0-ax)+abs(0-bx) <abs(6-ax)+abs(6-bx))
+=abs(0-ax)+abs(0-bx)+abs(ay-by);

else k +=abs(6-ax)+abs(6-bx)+abs(ay-by);

}

k +=13

if(rank > k) {
rank = ki

shortest_idx = i;

/7 making move path

memset(move_path, -1, sizeof(move_path));
move_path[0][0] =0; move_path[0][1] =-1;
k
for(i =0; i <5; i++) {

int ax = waypoints[point_combi[shortest_idx][i]l[1], ay

waypoints[point_combi[shortest_idx][i]I[0];
int bx waypoints[point_combilshortest_idx][i+1]][1], by
waypoints[point_combi[shortest_idx][i+1]][0];

int px =0, py =0;

if(z
if(ay > by) py =-1; elseif(ay

> bx) px elseif(ax < bx) px =1; else px =0;

by) py =1; else py =0;

switch(CheckPath(ax, ay, bx, by)) {

casel:
XMOVE:
i = ax;

whilej = bx) {
move_path[k][0] = ay;
move_path[kI[1] = j;
k +=1; j += px;

}

i = ay;

-12 -
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while(j != by) {
move_path[k][0] = j;
move_path[k][1] = bx;

k +=1; j += py;
}
break;
case2!
YMOVE:
i=ay

whilej = by) {
move_path[k][0] = j;
move_path[k][1] = ax;
k +=11j += pyi
}
j = ax;
while(j != bx) {
move_path[k][0] = by:
move_path[kl[1] = j;
k +=1; ] += px;
}
break;
cased:
if(py ==-1) goto XMOVE;
elsegoto YMOVE;

break;
case(:
if((ax==0llax==6)&&(bx==0||bx==6)) {
if(abs(1-ay)+abs(1-by) <abs(4-ay)+abs(4-by)) {
j=ay
whilej 1=1) {
move_path[k][0] = j;
move_path[k][1] = ax;
k +=1; j +=-1;
)
j = ax;
while(j 1= bx) {
move_path[k][0] =1;
move_path[kI[1] = j;
k +=15j += px;
}
j=L
while(j != by) {
move_path[k][0] = j;
move_path[k][1] = bx;
-13 -
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k +=1; j +=1
}
}
while(j 1=4) {
move_path[k][0] = j;
move_path[k][1] = ax;
k +=1; j +=1;
)
j = ax;
while(j = bx) {
move_path[k][0] =4;
move_path(kI[1] = j;
k +=1; j += px;
}
j=4
while(j != by) {
move_path[k][0] = j;
move_path[k][1] = bx;
k +=1; j +=-1;
)
}
}
else {

if(abs(0-ay)+abs(0-by) <abs(6-ax)+abs(6-bx)) {
j = ax
while(j 1=0) {
move_path[k][0] = ay;

move_path[k][1] = j;
k +=1; j +=-1;

)

j = ay;

while(j = by) {
move_path[k][0] = j;

move_path[k][1] =0;
k +=1; j += py;

)

j =0;

while(j 1= bx) {
move_path[k][0] = by;
move_path[kl[1] = j;
k +=1; j +=1;

- 14 -
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}
else {
] = ax;
while(j 1=6) {
move_path[k][0]
move_path[k][1] =
k +=1; j +=1;
)
j = ay;
while(j != by) {
move_path[k][0] = j;
move_path[kI[1] =6;
k +=1j += py;
)
j =6;
while(j != bx) {
move_path[k][0] = by;
move_path[kl[1] = j;
k +=1; j +=-1;
)
}
)
breal;

)
move_path[k][0] =4; move_path[k][1] =6;
for(i =0; 1 <40; i++) {
way.min_path[il[0] = move_path[i][0];
way.min_path[i][1] = move_pathl[il[1];

aypoints, 0, sizeof(real_waypoints));

forG =05 i <4; i++) {
real_waypoints[il[0] = waypoints[point_combi[shortest_idx][i+1]1[0];
real_waypoints[il[1] = waypoints[point_combi[shortest_idx][i+1]][1];

eraseDisplay();
if(real_waypoints[0][0] + real_waypoints[0][1] !=0) display TextLine(1, "(%6d%d)", 0, 0);

display TextLine(3, "(%d%d)", real_waypoints[0][0], real_waypoints[0][1]);
display TextLine(5, "(%d%d)", real_waypoints[11[0], real_waypoints[11[11);

display TextLine(7, "(%d%d)", real_waypoints[2][0], real_waypoints[2][1]);
if(real_waypoints[3][0] ==4&& real_waypoints[3][1] ==6){
display TextLine(9, "(%d%d)", 4, 6);

- 15 -

)

else {
display TextLine(9, "(%d%d)", real_waypoints[3][0], real_waypoints[3][1]);
display TextLine(12, "(%d%d)", 4, 6);

}

sleep(5000);

7/ level 3

setLEDColor(ledOff);

rb_dir_x =1; rb_dir_y =0:

MovePath(way, 1);

if(rb_dir_x ==0&& rb_dir_y ==-1) turnRight();
elseif(rb_dir_x ==0&& rb_dir_y ==1) turnLeft();
setMotorSpeed(motorB, 0);
setMotorSpeed(motorC, 0);

moveMotorTarget(motorB, 100, STD_SPEED);
moveMotorTarget(motorC, 100, STD_SPEED);
waitUntilMotorStop(motorC);
setMotorSpeed(motorB, 0);
setMotorSpeed(motorC, 0);

)

//=end main
task -

// =start define
fimncti

int CheckPath(int ax, int ay, int bx, int by) {
int i, px, py, path_a =0, path_b =0;

iflax > bx) px =-1; elseif(ax < bx) px =1; else px =0;

iflay > by) py 5 elseif(ay < by) py =1; else py

for(i =0; i <abs(ax-bx)+1; i++) if(maplay]lax+i*px] ==0) path_a =1;
ay+i#pyl[bx] ==0) path_a =1;
for(i =0; i <abs(ay-by)+1; i++) if(maplay+i*py]lax] ==0) path_b =1;
yllax+i#px] ==0) path_b =1;

[
for(i =0; i <abs(ay-by)+1; i++) if(mapl:
[
for(i =0; i <abs(ax-bx)+1; i++) if(map[h,

if(path_a ==0&& path_b ==0) return3;
elseif(path_a ==1&& path_b ==0) return2;
elseif(path_a ==0&& path_b ==1) returnl;

elsereturn0;

- 16 -
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int CheckLCO {
int color =getColorName(LC);

if(color !=2&& color '=3&& color !=4&& color !=5) returnl;

elsereturn0;

int CheckCCO) {
int color =getColorName(CC);
if(color !=2&& color !=3&& color !=4&& color !=5) returnl;

else {
sleep(25);
if(color ==getColorName(CC)) return0;
elsereturnl;

}

int CheckRCO {
int color =getColorName(RC);
if(color !=2&& color !=3&& color !=4&& color !=5) returnl;
elsereturn0;

intis Back(int rbx, int rby, int plx, int ply) {
if((rbx == plx && rhy != ply) || (thbx != plx && rby == ply)) returnl;
elsereturn0;

)

10

int isLeft(int rbx, int rby, int plx, int ply) {
if((rbx ==0&& rhy ==1) && (plx ==1&& ply ==0)) returnl;
elseif((rbx ==0&& rby ==-1) && (plx ==-1&& pl
elseif((rbx ==1&& rby ==0) && (plx ==0&& ply ==-1)) returnl;
elseif((rbx ==-1&& rby ==0) && (plx ==0&& ply ==1)) returnl;
elsereturn0;

==0)) returnl;

int isRight(int rbx, int rby, int plx, int ply) {
if((rbx ==0&& rhy ==1) && (plx 1&& ply ==0))  returnl;
elseif((rbx ==0&& rby ==-1) && (plx ==1&& ply ==0)) returnl;
elseif((rbx ==1&& rby ==0) && (plx ==0&& ply ==1)) returnl;
elseif((rbx ==-1&& rby ==0) && (plx ==0&& ply ==-1)) returnl;
elsereturn0;

-17 -
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void turnLeft() {
setMotorSpeed(motorB, -20);
setMotorSpeed(motorC, 20);
sleep(1000);
while(getColorName(RC) != colorBlack &&getColorName(CC) != colorBlack){;}
if(getColorName(CC) == colorBlack) {
while(getColorName(CC) == colorBlack) {
setMotorSpeed(motorB, 10);
setMotorSpeed(motorC, 10);
)
while(getColorName(RC) != colorBlack) {
setMotorSpeed(motorB, -20);
setMotorSpeed(motorC, 20.

}
setMotorSpeed(motorB, 0);
setMotorSpeed(motorC, 0);

while(getColorName(LC) == colorBlack) {
setMotorSpeed(motorB, ~20);
setMotorSpeed(motorC, 20);

}

while(getColorName(RC) == colorBlack) {
setMotorSpeed(motorB, 20);
setMotorSpeed(motorC, ~20);

voidturnRight() {
setMotorSpeed(motorB, 20);
setMotorSpeed(motorC, -20);
sleep(1000);
while(getColorName(LC) != colorBlack &&getColorName(CC) != colorBlack){;}
if(getColorName(CC) == colorBlack) {
while(getColorName(CC) == colorBlack) {
setMotorSpeed(motorB, 10);
setMotorSpeed(motorC, 10);
)
while(getColorName(LC) != colorBlack) {
setMotorSpeed(motorB, 20);
setMotorSpeed(motorC, ~20);

- 18 -
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setMotorSpeed(motorB, 0);
setMotorSpeed(motorC, 0);

while(getColorName(RC) == colorBlack) {
setMotorSpeed(motorB, 20);
setMotorSpeed(motorC, ~20);

}

while(getColorName(LC) == colorBlack) {
setMotorSpeed(motorB, -20);
setMotorSpeed(motorC, 20);

voidturnBack() {
turnLeft();
setMotorSpeed(motorB, 0);
setMotorSpeed(motorC, 0);
sleep(100);
turnLeft();

voidgolnfoCenter() {

turnRight();

for(int 1 =0; i <8; i++) {
moveMotorTarget(motorB, 200, STD_SPEED);
moveMotorTarget(motorC, 200, STD_SPEED);
waitUntilMotorStop(motorC);
setMotorSpeed(motorB, 0);
setMotorSpeed(motorC, 0);
moveMotorTarget(motorB, 60, ~STD_SPEED);
moveMotorTarget(motorC, 60, STD_SPEED);
waitUntilMotorStop(motorC);
setMotorSpeed(motorB, 0);
setMotorSpeed(motorC, 0);

setMotorSpeed(motorB, CORRECTION_SPEED);
setMotorSpeed(motorC, ~-CORRECTION_SPEED);
while(getColorName(CC) != colorBlack){;}
setMotorSpeed(motorB, 0);
setMotorSpeed(motorC, 0);

5, STD_SPEED);
5, ~STD_SPEED);
waitUntilMotorStop(motorC);

moveMotorTarget(motorB.
moveMotorTarget(motorC,
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setMotorSpeed(motorB, 0);
setMotorSpeed(motorC, 0);

setMotorSpeed(motorB, STD_SPEED);
setMotorSpeed(motorC, STD_SPEED);
while(getColorName(CC) == colorBlack) {;}
setMotorSpeed(motorB, 0);
setMotorSpeed(motorC, 0);

voidMovePath(Array way, int move_type) {
int i, j =0, count =0, ax, ay, bx, by, px, py, isDrop =0;
if(move_type ==0) count =31;
elseif(move_type ==1) count =39;

for(i =0; i < count; i++) {
if(move_type ==0) {
ax = way.scan_path[i][1];
ay = way.scan_path[il[0];
bx = scan_pathli+11[1];
by = way.scan_path[i+1][0];

}

elseif(move_type ==1) {
ax = way.min_path[il[1];
ay = way.min_path[i][0];
bx = way.min_path[i+1][1];

by = way.min_path[i+1][0];

if(move_type ==1&& bx ==-1&& by ==-1) break;

if(ax

elseif(ax < bx) px =1;

> bx) px =

else px =0;
if(ay > by) py =-1;
elseif(ay < by) py =1;

else py =0;
if(bx ==-1&& by ==-1) break;

eraseDisplay();
if (isBack(rb_

> px, py)) {
displayBig TextLine(

"urn Back");
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turnBack()

}

clscif(isLeft(rb_dir_x, rb_dir_y, px, py)) {
displayBig TextLine(3, "Turn Left");
turnLeft();

}

elseif(isRight(rb_dir_x, rb_dir_y, px, py)) {
displayBig TextLine(3, "Turn Right”);
turnRight();

}

else {
displayBigTextLine(3, "Go Straight”);

}

rb_dir_x = px; rb_dir_y = py:

resetMotorEncoder(motorB);
resetMotorEncoder(motorC);

while(CheckCC()) {

if(CheckLC() ==0l|getColorName(L.C) == colorBlack) {
setMotorSpeed(motorB, 0);
setMotorSpeed(motorC, CORRECTION_SPEED);

}

elseif(CheckRC() ==0||getColorName(RC) == colorBlack){
setMotorSpeed(motorB, CORRECTION_SPEED);
setMotorSpeed(motorC, 0)

}

else {
setMotorSpeed(motorB, STD_SPEED);
setMotorSpeed(motorC, STD_S

)

}

moveMotorTarget(motorB, 90, CORRECTION_SPEED);
moveMotorTarget(motorC, 90, CORRECTION_SPEED);
waitUntilMotorStop(motorC);

setMotorSpeed(motorB, 0)
setMotorSpeed(motorC, 0);

play Tone(700,10);

if(move_type ==0&& map[by][bx] ==0) map[by][bx] =getColorName(CC);

if(move_type ==1&& ax real_waypoints[jl[1] && ay real_waypoints[j1[0]) {
moveMotorTarget(motorA, 200, -45);
waitUntilMotorStop(motorA);
setMotorSpeed(motorA, 0,
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}
moveMotorTarget(motorB, 120, CORRECTION_SPEED);
moveMotorTarget(motorC, 120, CORRECTION_SPEE]
waitUntilMotorStop(motorC);
setMotorSpeed(motorB, 0);
setMotorSpeed(motorC, 0);
if(getMotorEncoder(motorB) <200) i -=1;
)
setMotorSpeed(motorB, 0);
setMotorSpeed(motorC, 0)
)
//=end define
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